AN LIES Gl E S

BUED I (B )

DX BRIRE 0D I UM A (B AL S5 i)

iy 4 % X %

NAERT =T H 1-1 207 207-1-2
ANHEHT =T H 1-2 207 207-2
ANHEHT =T H 1-3 207 207-3
ANHEET =T B 1-4 207 207123
ANHEHT =T H 1-5 207 207-4
NHEHT =T H 1-6 207 207-5
NHEHT =T H 1-7 207 207-6
ANHEHT =T H 1-8 207 207-7
ANHEHT =T H 1-9 207 207-8
NAERT =T H 1-10 207 207-9
NAEHT =T H 1-11 207 207-10
NUERT =T H 1-12 207 207-11
ANHEET =T H 1-13 207 207-17%~1
NUERT =T H 1-14 207 207-12
NAERT =T H 1-15 207 207-13
NAERT =T H 1-16 207 207-14
NAERT =T H 1-17 207 207-15
NAERT =T H 1-18 207 207-16
NAERT =T H 1-19 207 207-17
NUERT =T H 1-20 207 207-18
NAEHT =T H 1-21 207 207-19
NUEHT =T H 1-22 207 207-20
NUERT =T H 1-23 207 207-23
NAEHT =T H 1-24 207 207-24
NAEHT =T H 1-25 207 207-22
NAEHT =T H 1-26 207 207-25
ANHEET =T H 1-27 207 2072
NHEHT =T H 1-28 207 207-207-27
NAERT =T H 1-29 207 207-26
ANHEET =T H 1-30 207 207174
NUEHT =T H 1-31 207 207-1-1
NEEHT =T H 1-32 207 207-28
NAERT =T H 2-1 189 189-6
NAERT =T H 2-2 189 189-fr-17-1
NAERT =T H 2-3 189 189-9
NEERT =T H 2-4 189 189-7
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I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
ANHEET =T H 2-5 189 189-{~-16
ANHEET =T B 2-6 189 189-1%~4
NHEHT =T H 2-7 189 189-8
ANHEET =T B 2-8 189 189-1%-1
ANHEHT =T H 2-9 189 189-1
ANHEET =T H 2-10 189 189—%-2
NAERT =T H 2-11 189 189-2
NUERT =T H 2-12 189 189-3
NAERT =T H 2-13 189 189-4
ANHEET =T H 2-14 189 189-1%-3
NAERT =T H 2-15 189 189-5
NAEHT =T H 2-16 189 189-22
NAERT =T H 2-17 189 189-23
ANHEHET =T H 2-18 189 189—{f-5-2
NAERT =T H 2-19 189 189-10
NAERT =T H 2-20 189 189-fx-18-2
NUERT =T H 2-21 189 189-11
ANHEET =T H 2-22 189 189—fR-7-2
NAERT =T H 2-23 189 189-12
ANHEET =T H 2-24 189 189-1%-6
NAERT =T H 2-25 189 189-31
ANHEET =T H 2-26 189 189-f&-5-1
NAERT =T H 2-27 189 189-32
NAERT =T H 2-28 189 189-fr-18-1
ANPEHT =T H 2-29 189 189-33
ANHEET =T H 2-30 189 189-fR-7-1
NHEHT =T H 2-31 189 189-34
ANHEET =T H 2-32 189 189-f%-19
NPT =T H 2-33 189 189-1%-8
NAEHT =T H 2-34 189 189-14
NEEHT =T H 2-35 189 189-15
ANHEET =T H 2-36 189 189-1%-9
NUEHT =T H 2-37 189 189-24
NEERT =T H 2-38 189 189-16
ANHEET =T H 2-39 189 189-f&-10
NEERT =T H 2-40 189 189-17
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BIEDHIZ (L5 wy) DX B R 0D B i M (HA 1AL S5 T
W4 g X g
ANUEHT =T H 2-41 189 189-fr-11-1

ANUEHT =T H 2-42 189 189-18
ANUEHT =T H 2-43 189 189-fr-12-1
ANUEHT =T H 2-44 189 189-19
AT =T H 2-45 189 189-fR-11-2
ANUEHT =T H 2-46 189 189-20
ANUEHT =T H 2-47 189 189-fr-12-2
ANUEHT =T H 2-48 189 189-21
ANUEHT =T H 2-49 189 189-fR-13-2
ANUEHT =T H 2-50 189 189-25
ANUEHT =T H 2-51 189 189-fR-14-2
ANUEHT =T H 2-52 189 189-26
ANUEHT =T H 2-53 189 189-fR-15-2
AT =T H 2-54 189 189-27
ANUEHT =T H 2-55 189 189-fR-17-2
AT =T H 2-56 189 189-28
AT =T H 2-57 189 189-fR-13-1
ANUEHT =T H 2-58 189 189-29
AT =T H 2-59 189 189-fr-14-1
AT =T H 2-60 189 189-30
ANUEHT =T H 2-61 189 189-fR-15-1
AT =T H 3-1 190 190-1
NAEHT =T H 3-2 190 190-f%-2
AT =T H 3-3 190 190-2
NHEET =T H 3-4 190 1901
NAEET =T H 3-5 190 190-f%-3
AT =T H 3-6 190 190-3
NALHT =T H 3-7 190 19014
AT =T H 3-8 190 190-4
AT =T H 3-9 190 190-11
NEEET="TH 3-10 190 190-f&-5
AT =T H 3-11 190 190-5
NAEIT="TH 3-12 190 190-1%-7
AT =T H 3-13 190 190-6
NAEIT="TH 3-14 190 190-1%-8
ANHEHT=TH 3-15 190 190-7
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I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
ANHEET =T H 3-16 190 190-£%-9
NAEHT =T H 3-17 190 190-8
NAERT =T H 3-18 190 190-9
ANHEET =T H 3-19 190 190-1%-6
NAERT =T H 3-20 190 190-10
ANHEET =T H 3-21 190 190-f&-10
ANUEHT =T H 4-1 188 188-1
ANHEET =T B 4-2 188 188-1%-1
ANHEET =T B 4-3 188 188—1%-2
ANUEHT =T H 4-4 188 188-11
ANHEHT =T H 4-5 188 188-10
ANHEET =T B 4-6 188 188—1%-3
ANUEHT =T H 4-7 188 188-2
ANHEET =T B 4-8 188 188-1%—4
ANUEHT =T H 4-9 188 188-9
ANHEET =T B 4-10 188 188~1%-5
NAERT =T H 4-11 188 188-3
ANHEET =T H 4-12 188 188-1%-6
NAERT =T H 4-13 188 188-4-1
NAERT =T H 4-14 188 188-5
ANHEET =T H 4-15 188 188~%~7
ANHEET =T H 4-16 188 188-1%-8
ANAERT =T H 4-17 188 188-6
NAERT =T H 4-18 188 188-7
NPT =T H 4-19 188 188-1%-9
NHERT =T H 4-20 188 188-8
NEERT =T H 4-20 188 188-8
NHERT =T H 4-21 188 188-4-2
NAEHT =T H 5-1 187-1 187-1-10
ANHEET =T H 5-2 187-1 187-1-1%-7
NPEHT =T H 5-3 187-1 187-1-9
ANHEET =T H 5—4 187-1 187-1-1%:-6
NAEHT =T H 5-5 187-1 187-1-8
NUEHT =T H 5-6 187-1 187-1-1
NUERT =T H 5-7 187-1 187-1-2
NUEHT =T H 5-8 187-1 187-1-3
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I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NAERT =T H 5-9 187-1 187-1-12
ANHEET =T H 5-10 187-1 187-1-f%-2
NAERT =T H 5-11 187-1 187-1-11
ANHEET =T H 5-12 187-1 187-1-%-8
ANHEET =T H 5-13 187-1 187-1-f%-9
ANHEET =T H 5-14 187-1 187-1-1%-1
NAERT =T H 5-15 187-1 187-1-5
ANHEET =T H 5-16 187-1 187-1-%-3
ANHEET =T H 5-17 187-1 187-1-1%4
NAERT =T H 5-18 187-1 187-1-6
NAEHT =T H 5-19 187-1 187-1-7
ANHEET =T H 5-20 187-1 187-1-f%-5
ANAERT =T H 6-1 187-2 187-2-1
ANHEET =T H 6-2 187-2 187-2-%-9
NAERT =T H 6-3 187-2 187-2-11
NPT =T H 6-4 187-2 187-2-1%~1
NAERT =T H 6-5 187-2 187-2-10
NAERT =T H 6-6 187-2 187-2-9
ANHEET =T H 6-7 187-2 187-2-%-2
ANHEET =T H 6-8 187-2 187-2-%-3
NAERT =T H 6-9 187-2 187-2-2
NAEHT =T H 6-10 187-2 187-2-3
ANHEET =T H 6-11 187-2 187-2-£%-10
ANHEET =T H 6-12 187-2 187-2-1%~4
NAERT =T H 6-13 187-2 187-2-5
ANHEET =T H 6-14 187-2 187-2—1%-5
ANHEET =T H 6-15 187-2 187-2—14:-6
NPERT =T H 6-16 187-2 187-2-6
ANHEET =T H 6-17 187-2 187-2—-{%-7
NUEHT =T H 6-18 187-2 187-2-17
ANHEET =T H 6-19 187-2 187-2—1%-8
NUEHT =T H 6-20 187-2 187-2-8
NAEHT =T H 7-1 150-1 150-1-21
ANHEET =T H 7-2 150-1 150-1-f-15
NAEHT =T H 7-3 150-1 150-1-22-1
NAEHT =T H 7-4 150-1 150-1-22-2
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BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NPT =T H 7-5 150-1 150-1-ff-14
NUERT =T H 7-6 150-1 150-1-26-1
NUERT =T H -7 150-1 150-1-26-5
NUERT =T H 7-8 150-1 150-1-26-4
NUERT =T H 7-9 150-1 150-1-26-3
NUERT =T H 7-10 150-1 150-1-26-2
NUERT =T H 7-11 150-1 150—-1-26-6
NUERT =T H 7-12 150-1 150-1-26-7
NAERT =T H 7-13 150-1 150-1-26-8
NUERT =T H 7-14 150-1 150-1-26-9
NUERT =T H 7-15 150-1 150-1-26-10
ANHEET =T H 7-16 150-1 150-1-ff-18-2
NUERT =T H 7-17 150-1 150-1-1-1
NUERT =T H 7-18 150-1 150-1-1-2
ANHEET =T H 7-19 150-1 150-1-f%-16
NAERT =T H 7-20 150-1 150-1-24-1
NAERT =T H 7-21 150-1 150—-1-24-2
ANHEET =T H 7-22 150-1 150-1-ff-18-1
ANHEHET =T H 7-23 150-1 150-1-F&-17
NAERT =T H 7-24 150-1 150-1-25-1
NUERT =T H 7-25 150-1 150-1-1-3
NUERT =T H 7-26 150-1 150-1-1-4
NUERT =T H 7-27 150-1 150-1-25-2
NEEHT =T H 8-1 150-2 150-2-4
NPT =T H 8-2 150-2 150-2-£%-1
NEEHT =T H 8-3 150-2 150-2-22
ANHEET =T H 8-4 150-2 150-2—-{§:-4
NPERT =T H 8-5 150-2 150-2-23
ANHEET =T H 8-6 150-2 150-2—f:-2
NUEHT =T H 87 150-2 150-2-14
ANHEET =T H 8-8 150-2 150-2—{4-5
NUEHT =T H 8-9 150-2 150-2-5
ANHEET =T H 8-10 150-2 150-2—f-7
NAERT =T H 8-11 150-2 150-2-6
NEERT =T H 8-12 150-2 150-2-7
ANHEET =T H 8-13 150-2 150-2—14:-6
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I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NUERT =T H 8-14 150-2 150-2-8
ANHEET =T H 8-15 150-2 150-2—14:-8
NUERT =T H 8-16 150-2 150-2-9
ANHEET =T H 8-17 150-2 150-2—14:-9
NUERT =T H 8-18 150-2 150-2-10
NUERT =T H 8-19 150-2 150-2-11
NUERT =T H 8-20 150-2 150-2-13
ANHEET =T H 8-21 150-2 150-2—14-3
NAERT =T H 8-22 150-2 150-2-24
ANHEET =T H 8-23 150-2 150-2-%-13
NUERT =T H 8-24 150-2 150-2-18
ANHEET =T H 8-25 150-2 150-2-ff~14
ANHEET =T H 8-26 150-2 150-2-F%-12
NAERT =T H 8-27 150-2 150-2-19
ANUEHT =T H 9-1 151 151-1
ANHEET =T B 9-2 151 151-1%-8
ANUEHT =T H 9-3 151 151-2
ANHEHT =T H 9-4 151 151-3
NUEHT =T H 9-5 151 151-4
ANHEET =T B 9-6 151 151-f%-10
NHEHT =T H 9-7 151 151-5
ANHEET =T B 9-8 151 151-1%-3
ANUEHT =T H 9-9 151 151-6
ANHEET =T B 9-10 151 151-1%-4
ANPEHT =T H 9-11 151 151-10
ANHEET =T H 9-12 151 151-£%-9
ANHEET =T H 9-13 151 151-%~7
NEERT =T H 9-14 151 151-7
NEERT =T H 10-1 152 152-1
ANHEET =T H 10-2 152 152-1%~1
NEEHT =T H 10-3 152 152-2
NEERT =T H 10-4 152 152-3
ANHEET =T H 10-5 152 152-%-2
ANHEET =T H 10-6 152 152-1%-3
NPERT =T H 10-7 152 152-4
NEERT =T H 10-8 152 152-5
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I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
ANHEET =T H 10-9 152 152-1%—4
NAERT =T H 10-10 152 152-6
NAERT =T H 10-11 152 152-7
ANHEET =T H 11-1 153-1 55T X N [
NUERT =T H 11-2 153-2 153-2-7
NPT =T H 11-3 153-2 153-2—-14:-8
ANHEET =T H 11-4 153-2 153-2—{§-7
NUERT =T H 11-5 153-2 153-2-6
ANHEET =T H 11-6 153-2 153-2—-14:-6
NUERT =T H 11-7 153-2 153-2-5
NUERT =T H 11-8 153-2 153-2-4
ANHEET =T H 11-9 153-2 153-2—-1%-9
ANHEET =T H 11-10 153-2 153-2—{4:-5
ANHEET =T H 11-11 153-2 153-2—-{%:-4
NUERT =T H 11-12 153-2 153-2-3
ANHEET =T H 11-13 153-2 153-2—-1%-3
ANHEET =T H 11-14 153-2 153-2—f#-2
NUERT =T H 11-15 153-2 153-2-2
ANHEHET =T H 11-16 153-2 153-2—-1%-1
NUERT =T H 11-17 153-2 153-2-1
NUERT =T H 12-1 186 186-1
ANHEET =T H 12-2 186 186-1%-3
NAERT =T H 12-3 186 186-2-1
NUERT =T H 12-4 186 186-2-2
NAERT =T H 12-5 186 186-3
NHEHT =T H 12-6 186 186-4-1
NEEHT =T H 12-7 186 186-4-2
ANHEET =T H 12-8 186 186-%-2
NPT =T H 12-9 186 186-1%-1
NAEHT =T H 12-10 186 186-5
NEEHT =T H 12-11 186 186-6
NPEHT =T H 12-12 186 186-7
NUEHT =T H 12-13 186 186-8
NEERT =T H 12-14 186 186-9
NEERT =T H 12-15 186 186-12
NUEHT =T H 12-16 186 186-10-2
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BIEDHIZ (L5 wy) X [ ER A oD [ MR (M ALy AT

T4 g X g
ANAEET =T H 12-17 186 186-10-1
ANAEET =T H 12-18 186 186-10-3
ANAEET =T H 12-19 186 186-2-3
NHERT =T H 12-20 186 18614
ANAEET =T H 12-21 186 186-11
NHERT =T H 12-22 186 1865
ANAEET =T H 13-1 185 185-1
NHERT =T H 13-2 185 185-fR-1
ANAEET =T H 13-3 185 185-2
ANAEET =T H 13-4 185 185-3
NHERT =T H 13-5 185 185-{R-2
ANAEET =T H 13-6 185 185-4
NHERT =T H 13-7 185 185-{&-9
NHERT =T H 13-8 185 185-f&-10
NHERT =T H 13-9 185 185-{R-3
ANAEET =T H 13-10 185 185-6
NHERT =T H 13-11 185 1854
ANAEET =T H 13-12 185 185-7
NHERT =T H 13-13 185 185-{&-5
ANAEET =T H 13-14 185 185-8
NHERT =T H 13-15 185 18516
ANAEET =T H 13-16 185 185-9
NHERT =T H 13-17 185 1857
ANAEET =T H 13-18 185 185-10
NHERT =T H 13-19 185 185-{R-8
ANAEET =T H 13-20 185 185-11
ANAEET =T H 14-1 184 184-20
NHERT =T H 14-2 184 184-f%-19
NHERT =T H 14-3 184 184~{%-20
ANAEET =T H 14-4 184 184-2
NHERT =T H 14-5 184 184-f-21
NHERT =T H 14-6 184 184-f&-1
ANAEET =T H 14-7 184 184-1
NHERT =T H 14-8 184 184-f#%-18
ANAEET =T H 14-9 184 184-18
NHERT =T H 14-10 184 184-{R~-16
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I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NUERT =T H 14-11 184 184-19
ANHEET =T H 14-12 184 184717
NAERT =T H 14-13 184 184-3
ANHEET =T H 14-14 184 184-%-15
NUERT =T H 14-15 184 184-4
NAERT =T H 14-16 184 184-5
ANHEET =T H 14-17 184 184-1%-2
NUERT =T H 14-18 184 184-6
NAERT =T H 14-19 184 184-7
ANHEET =T H 14-20 184 184-1%-3
ANHEET =T H 14-21 184 184-%-22
NAEHT =T H 14-22 184 184-8
ANHEET =T H 14-23 184 184-1%~4
ANHEHET =T H 14-24 184 184-%-23
NAERT =T H 14-25 184 184-9
NPT =T H 14-26 184 184-%-5
ANHEET =T H 14-27 184 184-%-24
NUERT =T H 14-28 184 184-10
ANHEET =T H 14-29 184 184-1%-6
ANHEET =T H 14-30 184 184-%-25
ANHEET =T H 14-31 184 184~1%~7
NPT =T H 14-32 184 184-1%-8
NAERT =T H 14-33 184 184-12
NUERT =T H 14-34 184 184-13
ANHEET =T H 14-35 184 184-%-9
NHEHT =T H 14-36 184 184-14
ANHEET =T H 14-37 184 184-£%-10
NHERT =T H 14-38 184 184-15
ANHEET =T H 14-39 184 184-f%-11
NEEHT =T H 14-40 184 184-16
ANHEET =T H 14-41 184 184712
NUEHT =T H 14-42 184 184-17
ANHEET =T H 14-43 184 184-%-13
ANHEET =T H 14-44 184 184-1%-14
NPERT =T H 15-1 183 183-1
ANHEET =T H 15-2 183 183-1%-1
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BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NAERT =T H 15-3 183 183-2
NAEHT =T H 15-4 183 183-3
ANHEET =T H 15-5 183 183~%-2
NAERT =T H 15-6 183 183-4
ANHEET =T H 15-7 183 183~%-3
NAERT =T H 15-8 183 183-5
NPT =T H 15-9 183 183-1%~4
NAERT =T H 15-10 183 183-6
ANHEET =T H 15-11 183 183~f%-5
NUERT =T H 16-1 154 154-1
ANAERT =T H 16-2 154 154-2
NAERT =T H 16-3 154 154-3
ANHEET =T H 16-4 154 154-1%-3
NAEHT =T H 16-5 154 154-4
ANHEHET =T H 16-6 154 154-1%~1
ANHEET =T H 16-7 154 154-%-2
NAERT =T H 16-8 154 154-8
NAERT =T H 16-9 154 154-6
NAERT =T H 16-10 154 154-5
NAERT =T H 16-11 154 154-7-3
NAERT =T H 16-12 154 154-7-2
NAEHT =T H 16-13 154 154-7-1
NAERT =T H 17-1 157-1 157-1-1
NEEHT =T H 17-2 157-1 157-1-2-1
NUERT =T H 17-3 157-1 157-1-2-2
NUERT =T H 17-4 157-1 157-1-2-3
NAERT =T H 17-5 157-1 157-1-2-4
NAERT =T H 17-6 157-1 157-1-10-1
NUERT =T H 17-7 157-1 157-1-10-4
NHERT =T H 17-8 157-1 157-1-10-2
NUEHT =T H 17-9 157-1 157-1-10-3
NEEHT =T H 17-10 157-1 157-1-3
ANHEET =T H 17-11 157-1 157-1-1%-1
NHEHT =T H 17-12 157-1 157-1-4
ANHEET =T H 17-13 157-1 157-1-£-2
ANHEET =T H 17-14 157-1 157-1-%-3
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BUEDOHFE (1AL 5y ) [X_ [ 3 L PR D ] Mt b 2R (B kAL Sy i)
T4 i HIX 1
NUERT =T H 17-15 157-1 157-1-5
NAEHT =T H 17-16 157-1 157-1-6
ANHEET =T H 17-17 157-1 157-1-1%~4
ANHEET =T H 17-18 157-1 157-1-f%-5
NUERT =T H 17-19 157-1 157-1-7
NUERT =T H 17-20 157-1 157-1-8
ANHEET =T H 17-21 157-1 157-1-{%-6
NUERT =T H 17-22 157-1 157-1-9-2
NAERT =T H 17-23 157-1 157-1-9-6
NAERT =T H 17-24 157-1 157-1-9-5
NAERT =T H 17-25 157-1 157-1-9-1
NUERT =T H 17-26 157-1 157-1-9-4
NAERT =T H 17-27 157-1 157-1-9-3
NAERT =T H 18-1 155 155-19
ANHEHET =T H 18-2 155 155-%~7
NAERT =T H 18-3 155 155-18
ANHEET =T H 18-4 155 155-f%-14
NAERT =T H 18-5 155 155-1
ANHEET =T H 18-6 155 155-f%-15
ANHEET =T H 18-7 155 155-1%-8
NAERT =T H 18-8 155 155-16
NAERT =T H 18-9 155 155-12
NAERT =T H 18-10 155 155-2
NAERT =T H 18-11 155 155-3
NPT =T H 18-12 155 155-£%-9
NPERT =T H 18-13 155 155-4
ANHEET =T H 18-14 155 155-£%-10
NPERT =T H 18-15 155 155-5-1
RNALRT =T H 18-16 155 155-5-2
NAERT =T H 18-17 155 155-6
NPERT =T H 18-18 155 155-7
ANHEET =T H 18-19 155 155-1%~1
ANHEET =T H 18-20 155 155-f&-11
NAERT =T H 18-21 155 155-8-2
NAERT =T H 18-22 155 155-8
NPT =T H 18-23 155 1552
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BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NPERT =T H 18-24 155 155-9
ANHEET =T H 18-25 155 155-%-3
NAERT =T H 18-26 155 155-10-2
NUERT =T H 18-27 155 155-10-2-2
NUERT =T H 18-28 155 155-10-1-1
ANHEET =T H 18-29 155 155-1%~4
NAERT =T H 18-30 155 155-11
ANHEET =T H 18-31 155 155-f%-5
NAERT =T H 18-32 155 155-13
ANHEET =T H 18-33 155 155-f&-12
NAERT =T H 18-34 155 155-14
NAERT =T H 18-35 155 155-15
ANHEET =T H 18-36 155 155-1%-6
ANHEHET =T H 18-37 155 155-1%-13
NAERT =T H 18-38 155 155-17
NAERT =T H 19-1 182 182-1-1
NPT =T H 19-2 182 182-1%~4
NAERT =T H 19-3 182 182-2
ANHEET =T H 19-4 182 182-1%-1
NAERT =T H 19-5 182 182-3
NUERT =T H 19-6 182 182-4
ANHEET =T H 19-7 182 1822
ANAERT =T H 19-8 182 182-5
ANHEET =T H 19-9 182 182-1%-3
NAERT =T H 19-10 182 182-1-2
NEEHT =T H 19-11 182 182-1-3
NEERT =T H 20-1 191 191-1
ANHEET =T H 20-2 191 191-1%-1
NPT =T H 20-3 191 191-1%-2
NAEHT =T H 20-4 191 191-19
ANHEET =T H 20-5 191 191-1%-3
NEERT =T H 20-6 191 191-2
NUEHT =T H 20-7 191 191-4
ANHEET =T H 20-8 191 191-1%-5
NPERT =T H 20-9 191 191-5
ANHEET =T H 20-10 191 191-£%-18
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I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
ANHEET =T H 20-11 191 191-£%-13
NAEHT =T H 20-12 191 191-7
NAERT =T H 20-13 191 191-6-1
NAERT =T H 20-14 191 191-14
ANHEET =T H 20-15 191 191-£%-12
ANHEET =T H 20-16 191 19117
NAERT =T H 20-17 191 191-8
ANHEET =T H 20-18 191 191-1%-6
NAERT =T H 20-19 191 191-22
ANHEET =T H 20-20 191 191-£%-17
NAERT =T H 20-21 191 191-23
NAERT =T H 20-22 191 191-20
NAERT =T H 20-23 191 191-21
ANHEHET =T H 20-24 191 191-f%-16
NAERT =T H 20-25 191 191-10
NAERT =T H 20-26 191 191-9
NUERT =T H 20-27 191 191-12
ANHEET =T H 20-28 191 191-£%-15
ANHEET =T H 20-29 191 191-£%-14
NAERT =T H 20-30 191 191-13
ANHEET =T H 20-31 191 191-1%-4
ANAERT =T H 20-32 191 191-15
NAERT =T H 20-33 191 191-16
NPT =T H 20-34 191 191-1%-9
ANHEET =T H 20-35 191 191-£&-11
ANHEET =T H 20-36 191 191-£%-10
NEEHT =T H 20-37 191 191-17
ANHEET =T H 20-38 191 191-1%-8
NAEHT =T H 20-39 191 191-18
NEEHT =T H 20-40 191 191-6-2
NEEHT =T H 21-1 192 192-2
ANHEET =T H 21-2 192 192-1%-1
NUEHT =T H 21-3 192 192-1
ANHEET =T H 21-4 192 192-1%-2
ANHEET =T H 21-5 192 192-1%~4
NEERT =T H 21-6 192 192-3

1442




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NAERT =T H 21-7 192 192-4
ANHEET =T H 21-8 192 192-1%-3
NAERT =T H 21-9 192 192-5
NAERT =T H 22-1 193 193-1
ANHEET =T H 22-2 193 193-f%-15
ANHEET =T H 22-3 193 193-1%-1
NAERT =T H 22-4 193 193-2
ANHEET =T H 22-5 193 193~%-2
NAERT =T H 22-6 193 193-3
NAERT =T H 22-7 193 193-4
ANHEHET =T H 22-8 193 193~%-3
ANHEET =T H 22-9 193 193-1%-4
NAERT =T H 22-10 193 193-5
NAERT =T H 22-11 193 193-6
ANHEET =T H 22-12 193 193-f%-5
NAERT =T H 22-13 193 193-36
NAERT =T H 22-14 193 193-35
NAERT =T H 22-15 193 193-7
NAERT =T H 22-16 193 193-29
NAERT =T H 22-17 193 193-30
NAERT =T H 22-18 193 193-31
NAERT =T H 22-19 193 193-32
NAERT =T H 22-20 193 193-38
NAERT =T H 22-21 193 193-33
ANPEHT =T H 22-22 193 193-34
NPERT =T H 22-23 193 193-13
NHEHT =T H 22-24 193 193-14
NAERT =T H 22-25 193 193-15
NPEHT =T H 22-26 193 193-16-1
NUEHT =T H 22-27 193 193-16-2
NAEHT =T H 22-28 193 193-39
NUEHT =T H 22-29 193 193-17
NAEHT =T H 22-30 193 193-11
NAERT =T H 22-31 193 193-12
NEERT =T H 22-32 193 193-18
NEERT =T H 22-33 193 193-8

1542




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NPERT =T H 22-34 193 193-9
NAERT =T H 22-35 193 193-10
NAERT =T H 22-36 193 193-20-2
NAERT =T H 22-37 193 193-20-1
ANHEET =T H 22-38 193 193-£%-14
NAERT =T H 22-39 193 193-21
ANHEET =T H 22-40 193 193-1%-13
NAEHT =T H 22-41 193 193-22
ANHEET =T H 22-42 193 193-%-12
NAERT =T H 22-43 193 193-23
ANHEET =T H 22-44 193 193-f&-11
NAERT =T H 22-45 193 193-24
ANHEET =T H 22-46 193 193-£%-10
NAERT =T H 22-47 193 193-25
ANHEET =T H 22-48 193 193-£%-9
NAERT =T H 22-49 193 193-26
ANHEET =T H 22-50 193 193-1%-8
ANHEET =T H 22-51 193 193~%~7
NAERT =T H 22-52 193 193-27
ANHEET =T H 22-53 193 193-1%-6
NAERT =T H 22-54 193 193-37
ANAERT =T H 22-55 193 193-28
NAERT =T H 22-56 193 193-40
NUERT =T H 22-57 193 193-41
NAERT =T H 23-1 194 194-1
ANHEET =T H 23-2 194 194-1%-1
NEERT =T H 23-3 194 194-2
NEERT =T H 23-4 194 194-3
NEERT =T H 23-5 194 194-8
NAEHT =T H 23-6 194 194-4
ANHEET =T H 23-7 194 194-1%~4
NEERT =T H 23-8 194 194-5
ANHEET =T H 23-9 194 194-1%-5
NEERT =T H 23-10 194 194-6
NEERT =T H 23-11 194 194-7
NUEHT =T H 23-12 194 194-9-1

16,42




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NAERT =T H 23-13 194 194-9-2
NAEHT =T H 23-14 194 194-9-3
NAERT =T H 23-15 194 194-9-4
NAERT =T H 23-16 194 194-9-5
NAERT =T H 23-17 194 194-9-6
NAERT =T H 24-1 181 181-1
NPT =T H 24-2 181 181-%-2
NUERT =T H 24-3 181 181-2
ANHEET =T H 24-4 181 181-1%-1
ANHEET =T H 24-5 181 181-1%-3
NAERT =T H 24-6 181 181-3
NAEHT =T H 24-7 181 181-4
NAERT =T H 24-8 181 181-11
ANHEET =T H 24-9 181 181-1%—4
NAERT =T H 24-10 181 181-5
NPT =T H 24-11 181 181-1%-8
NAERT =T H 24-12 181 181-6
NAERT =T H 24-13 181 181-10
NAERT =T H 24-14 181 181-7
ANHEET =T H 24-15 181 181-f%-5
NAERT =T H 24-16 181 181-8
ANHEET =T H 24-17 181 181-1%-6
NAERT =T H 24-18 181 181-9
NPT =T H 24-19 181 1817
ANPEHT =T H 25-1 180 180-1
NPERT =T H 25-2 180 180-12
NHEHT =T H 25-3 180 180-11
NAERT =T H 25-4 180 180-2
NAEHT =T H 25-5 180 180-3-1
NAEHT =T H 25-6 180 180-4-1-1
NAEHT =T H 25-7 180 180-4-1-2
NEEHT =T H 25-8 180 180-4-1-3
NAEHT =T H 25-9 180 180-4-1-4
NHEHT =T H 25-10 180 180-4-2-1
NEEHT =T H 25-11 180 180-4-2-2
NUEHT =T H 25-12 180 180-3-2

17/42




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NAERT =T H 25-13 180 180-3-3
ANHEET =T H 25-14 180 180-£&-1
ANHEET =T H 25-15 180 180-%~2
NAERT =T H 25-16 180 180-5
NUERT =T H 25-17 180 180-6
ANHEET =T H 25-18 180 180~%-3
NAERT =T H 25-19 180 180-7
ANHEET =T H 25-20 180 180-1%—4
NAERT =T H 25-21 180 180-8
ANHEET =T H 25-22 180 180~f%-5
NAERT =T H 25-23 180 180-9
ANHEET =T H 25-24 180 180~%-6
NAERT =T H 25-25 180 180-10
ANHEHET =T H 25-26 180 180~%~7
NAERT =T H 26-1 179 179-1
NAERT =T H 26-2 179 179-11
NPT =T H 26-3 179 179-1%-6
ANHEET =T H 26-4 179 179-1%-9
NAERT =T H 26-5 179 179-13
NAERT =T H 26-6 179 179-2
ANHEET =T H 26-7 179 179~1%~7
NUERT =T H 26-8 179 179-3
ANHEET =T H 26-9 179 179-1%-8
NAERT =T H 26-10 179 179-4
ANPEHT =T H 26-11 179 179-5
ANHEET =T H 26-12 179 179171
NHEHT =T H 26-13 179 179-6
ANHEET =T H 26-14 179 179-1%-2
NAEHT =T H 26-15 179 179-7
ANHEET =T H 26-16 179 179-1%-3
NEEHT =T H 26-17 179 179-8
ANHEET =T H 26-18 179 179-1%~4
NUEHT =T H 26-19 179 179-9
ANHEET =T H 26-20 179 179-1%-5
ANHEET =T H 26-21 179 179-f%-11
NEERT =T H 26-22 179 179-10

18,742




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
ANHEET =T H 26-23 179 179-£%-10
NAEHT =T H 27-1 178 178-1
ANHEET =T H 27-2 178 178-1%-6
ANHEET =T H 27-3 178 178~1%~7
NUERT =T H 27-4 178 178-2
ANHEET =T H 27-5 178 178-1%-8
NPT =T H 27-6 178 178-1%-9
ANHEET =T H 27-17 178 178-1%~1
NAERT =T H 27-8 178 178-4
ANHEET =T H 27-9 178 178~%-2
ANAERT =T H 27-10 178 178-5
NAERT =T H 27-11 178 178-6
ANHEET =T H 27-12 178 178-1%-3
ANHEET =T H 27-13 178 178-1%~4
ANHEET =T H 27-14 178 178~1%-5
NAERT =T H 27-15 178 178-7
NAERT =T H 28-1 177-1 177-1-1
ANHEET =T H 28-2 177-1 177-1-1%-15
ANHEHET =T H 28-3 177-1 177-1-f%~14
NUERT =T H 28-4 177-1 177-1-19
ANHEET =T H 28-5 177-1 177-1-1%-13
NUERT =T H 28-6 177-1 177-1-20
ANHEET =T H 28-7 177-1 177-1-1%-1
NAEHT =T H 28-8 177-1 177-1-3
ANHEET =T H 28-9 177-1 177-1-1%-2
NEERT =T H 28-10 177-1 177-1-4
NAERT =T H 28-11 177-1 177-1-2-2
NAERT =T H 28-12 177-1 177-1-2-1
NUERT =T H 28-13 177-1 177-1-5-1
NUEHT =T H 28-14 177-1 177-1-5-2
NAERT =T H 28-15 177-1 177-1-5-3
NUERT =T H 28-16 177-1 177-1-5-4
NUERT =T H 28-17 177-1 177-1-6-1
NHEHT =T H 28-18 177-1 177-1-17
ANHEET =T H 28-19 177-1 177-1-1%-3
NUEHT =T H 28-20 177-1 177-1-8

1942




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NUERT =T H 28-21 177-1 177-1-9
ANHEET =T H 28-22 177-1 177-1-1%~4
ANHEET =T H 28-23 177-1 177-1-f%-5
NUERT =T H 28-24 177-1 177-1-10
ANHEET =T H 28-25 177-1 177-1-1%:-6
ANHEET =T H 28-26 177-1 177-1-1%-7
NUERT =T H 28-27 177-1 177-1-11
ANHEET =T H 28-28 177-1 177-1-1%-8
ANHEET =T H 28-29 177-1 177-1-1%-9
NUERT =T H 28-30 177-1 177-1-12
ANHEET =T H 28-31 177-1 177-1-1%-10
NUERT =T H 28-32 177-1 177-1-13
NUERT =T H 28-33 177-1 177-1-14
NUERT =T H 28-34 177-1 177-1-15
NPT =T H 28-35 177-1 177-1-1%-11
NUERT =T H 28-36 177-1 177-1-16
NUERT =T H 28-37 177-1 177-1-17
NUERT =T H 28-38 177-1 177-1-18
ANHEHET =T H 28-39 177-1 177-1-1%:-12
NUERT =T H 29-1 177-2 177-2-1
NUERT =T H 29-2 177-2 177-2-10
ANHEET =T H 29-3 177-2 177-2-1%-1
NUERT =T H 29-4 177-2 177-2-2
ANHEET =T H 29-5 177-2 177-2—-{%-2
NAERT =T H 29-6 177-2 177-2-3
ANHEET =T H 29-7 177-2 177-2-1%-3
ANHEET =T H 29-8 177-2 177-2-1%:—-4
NAERT =T H 29-9 177-2 177-2-4
NAEHT =T H 29-10 177-2 177-2-5
NHERT =T H 29-11 177-2 177-2-11
NAEHT =T H 29-12 177-2 177-2-6
NEEHT =T H 29-13 177-2 177-2-17
ANHEET =T H 29-14 177-2 177-2-1%:-6
NHEHT =T H 29-15 177-2 177-2-8
ANHEET =T H 29-16 177-2 177-2-%-7
NEERT =T H 29-17 177-2 177-2-9-2

20,742




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NAERT =T H 29-18 177-2 177-2-9-1
NAERT =T H 30-1 166 166-18
NAERT =T H 30-2 166 166-19-1
NAERT =T H 30-3 166 166-19-2
NUERT =T H 30-4 166 166-1
NAERT =T H 30-5 166 166-2
NPT =T H 30-6 166 166-1%-6
NUERT =T H 30-7 166 166-3
ANHEET =T H 30-8 166 166-1%-1
NAERT =T H 30-9 166 166-4
NAERT =T H 30-10 166 166-17
ANHEET =T H 30-11 166 166-£%-9
NAERT =T H 30-12 166 166-5
ANHEHET =T H 30-13 166 166-1%-8
ANHEET =T H 30-14 166 166-1%~7
NPT =T H 30-15 166 166-1%~-2
NAERT =T H 30-16 166 166-6
NAERT =T H 30-17 166 166-7
NAERT =T H 30-18 166 166-8
ANHEET =T H 30-19 166 166-1%-3
NUERT =T H 30-20 166 166-9
NPT =T H 30-21 166 166-1%—4
NAERT =T H 30-22 166 166-16
NUERT =T H 30-23 166 166-15
NHEHT =T H 30-24 166 166-14
NHEHT =T H 30-25 166 166-13
NEEHT =T H 30-26 166 166-12
NHERT =T H 30-27 166 166-10
ANHEET =T H 30-28 166 166-%-5
NEEHT =T H 30-29 166 166-11
NEEHT =T H 31-1 165 165-1
NEERT =T H 31-2 165 165-16
NUEHT =T H 31-3 165 165-21
NEEHT =T H 31-4 165 165-2
NPERT =T H 31-5 165 165-17
NEERT =T H 31-6 165 165-20

21,742




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NAERT =T H 31-7 165 165-4
NAEHT =T H 31-8 165 165-18
NAERT =T H 31-9 165 165-19
NAERT =T H 31-10 165 165-5
NAERT =T H 31-11 165 165-7-1
NAERT =T H 31-12 165 165-7-2
NAERT =T H 31-13 165 165-8-1
NUERT =T H 31-14 165 165-8-2
ANHEET =T H 31-15 165 1652
NAERT =T H 31-16 165 165-9
NAERT =T H 31-17 165 165-10
NAERT =T H 31-18 165 165-11
NAERT =T H 31-19 165 165-12
ANHEHET =T H 31-20 165 165-1%~1
NAERT =T H 31-21 165 165-15
NAERT =T H 31-22 165 165-8-4
NUERT =T H 31-23 165 165-8-3
NUERT =T H 31-24 165 165-7-4
NAERT =T H 31-25 165 165-7-3
NAERT =T H 31-26 165 165-13
NAERT =T H 31-27 165 165-14-2
ANAERT =T H 31-28 165 165-14-1
NAERT =T H 32-1 164 164-1-1
NUERT =T H 32-2 164 164-1-2
NHEHT =T H 32-3 164 164-1-3
NHEHT =T H 32-4 164 164-1-4
NEEHT =T H 32-5 164 164-1-5
NHERT =T H 32-6 164 164-1-6
NAEHT =T H 32-7 164 164-1-7
NEEHT =T H 32-8 164 164-1-8
NPEHT =T H 32-9 164 164-1-9
NUEHT =T H 32-10 164 164-1-10
NAEHT =T H 32-11 164 164-1-11
NUEHT =T H 32-12 164 164-1-12
NUERT =T H 32-13 164 164-2
NUEHT =T H 32-14 164 164-3

22,/42




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NPERT =T H 32-15 164 164-4
NAEHT =T H 32-16 164 164-6-2
NAERT =T H 32-17 164 164-17
NAERT =T H 32-18 164 164-18
NAERT =T H 32-19 164 164-6-1
NAERT =T H 32-20 164 164-5
NAERT =T H 32-21 164 164-7
NUERT =T H 32-22 164 164-13-8
NAERT =T H 32-23 164 164-9-4
NAERT =T H 32-24 164 164-8-4
NAEHT =T H 32-25 164 164-13-7
NAERT =T H 32-26 164 164-9-3
ANAERT =T H 32-27 164 164-8-3
NEEHT =T H 32-28 164 164-13-6
NAERT =T H 32-29 164 164-9-2
NAERT =T H 32-30 164 164-8-2
NAERT =T H 32-31 164 164-13-5
NAERT =T H 32-32 164 164-9-1
NAERT =T H 32-33 164 164-8-1
NAERT =T H 32-34 164 164-10
NAERT =T H 32-35 164 164-13-4
NAEHT =T H 32-36 164 164-12-4
NAERT =T H 32-37 164 164-11-2
NEEHT =T H 32-38 164 164-13-3
NAERT =T H 32-39 164 164-12-3
NEEHT =T H 32-40 164 164-11-1
NEERT =T H 32-41 164 164-13-2
NPERT =T H 32-42 164 164-12-2
NPEHT =T H 32-43 164 164-13-1
NUEHT =T H 32-44 164 164-12-1
NAEHT =T H 32-45 164 164-14-1
NUEHT =T H 32-46 164 164-14-2
NAEHT =T H 32-47 164 164-14-3
NAERT =T H 32-48 164 164-14-4
NEERT =T H 32-49 164 164-9-5
NUEHT =T H 32-50 164 164-14-5

23,42




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NAERT =T H 32-51 164 164-14-6
NAEHT =T H 32-52 164 164-14-7
NAERT =T H 32-53 164 164-14-8
NAERT =T H 33-1 163 163-1
NUERT =T H 33-2 163 163-2
NAERT =T H 33-3 163 163-13
NAERT =T H 33-4 163 163-3
NAEHT =T H 33-5 163 163-4-1
NAERT =T H 33-6 163 163-4-2
NAERT =T H 33-7 163 163-14-1
NAERT =T H 33-8 163 163-4-6
NAERT =T H 33-9 163 163-4-3
NAERT =T H 33-10 163 163-4-4
NAERT =T H 33-11 163 163-4-5
NAERT =T H 33-12 163 163-14-2
NAERT =T H 33-13 163 163-6-8
NUERT =T H 33-14 163 163-6-7
NUERT =T H 33-15 163 163-6-6
NAERT =T H 33-16 163 163-6-5
NAERT =T H 33-17 163 163-6-4
NAERT =T H 33-18 163 163-6-3
ANAERT =T H 33-19 163 163-6-2
NAERT =T H 33-20 163 163-6-1
NUERT =T H 33-21 163 163-14-3
ANHEET =T H 33-22 163 163-£%-1
ANHEET =T H 33-23 163 163-fR-1-2
ANHEET =T H 33-24 163 163-fR-1-3
ANHEET =T H 33-25 163 163-fR-1-4
ANHEET =T H 33-26 163 163-fR-1-5
ANHEET =T H 33-27 163 163-{R-1-6
NPEHT =T H 33-28 163 163-14-4
NUEHT =T H 33-29 163 163-7
NAEHT =T H 33-30 163 163-15
ANHEET =T H 33-31 163 163~1%-3
ANHEET =T H 33-32 163 163~%-2
NEERT =T H 33-33 163 163-8

24,42




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
ANHEET =T H 33-34 163 163~f%-5
ANHEET =T H 33-35 163 163-1%—-4
NAERT =T H 33-36 163 163-9
ANHEET =T H 33-37 163 163~1%~7
ANHEET =T H 33-38 163 163-1%-6
NAERT =T H 33-39 163 163-10
ANHEET =T H 33-40 163 163-£%-9
ANHEET =T H 33-41 163 163-1%-8
NAERT =T H 33-42 163 163-11
ANHEET =T H 33-43 163 163—-fR-11
ANHEET =T H 33-44 163 163-£%~-10
NAERT =T H 33-45 163 163-12
NAERT =T H 34-1 156 156-1
NAEHT =T H 34-2 156 156-5
NAERT =T H 34-3 156 156-6
NAERT =T H 34-4 156 156-7
NAERT =T H 34-5 156 156-8
NAERT =T H 34-6 156 156-9
NAERT =T H 34-17 156 156-2
NAERT =T H 34-8 156 156-3-1
ANHEET =T H 34-9 156 156-fR-1-1
NUERT =T H 34-10 156 156-4-1-1
ANHEET =T H 34-11 156 156-fR-1-2
NAEHT =T H 34-12 156 156-4-1-2
ANHEET =T H 34-13 156 156-fR-1-3
NEERT =T H 34-14 156 156-4-1-3
ANHEET =T H 34-15 156 156—{R-1-4
NAERT =T H 34-16 156 156-4-1-4
ANHEET =T H 34-17 156 156-fR-1-5
NAEHT =T H 34-18 156 156-4-2-9
ANHEET =T H 34-19 156 156-{R-1-6
NEEHT =T H 34-20 156 156-4-2-8
NAEHT =T H 34-21 156 156-4-2-7
ANHEET =T H 34-22 156 156—fR-1-7
NEEHT =T H 34-23 156 156-4-2-6
NUEHT =T H 34-24 156 156-4-2-5

25,/42




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NUERT =T H 34-25 156 156-4-2-4
ANHEET =T H 34-26 156 156-f~-1-8
NUERT =T H 34-27 156 156-4-2-3
ANHEET =T H 34-28 156 156—fR-1-9
NUERT =T H 34-29 156 156-4-2-2
NUERT =T H 34-30 156 156-4-2-1
NUERT =T H 34-31 156 156-4-2-10
NAEHT =T H 34-32 156 156—f&-1-10
NAERT =T H 34-33 156 156-3-2
NUERT =T H 35-1 157-2 157-2-1
NUERT =T H 35-2 157-2 157-2-2
ANHEET =T H 35-3 157-2 157-2-14:-6
ANHEET =T H 354 157-2 157-2—-{%-5
NAERT =T H 35-5 157-2 157-2-8
ANHEET =T H 35-6 157-2 157-2—-{%:—-4
NAERT =T H 35-7 157-2 157-2-7
NAERT =T H 35-8 157-2 157-2-3
ANHEET =T H 35-9 157-2 157-2-1%-1
NUERT =T H 35-10 157-2 157-2-4
ANHEET =T H 35-11 157-2 157-2-%-2
ANHEET =T H 35-12 157-2 157-2-{%~7
ANHEET =T H 35-13 157-2 157-2-%-8
ANHEET =T H 35-14 157-2 157-2-%-3
NAEHT =T H 35-15 157-2 157-2-9
NAERT =T H 36-1 162 162-1
NHERT =T H 36-2 162 162-16
NEERT =T H 36-3 162 162-2
NEERT =T H 36-4 162 162-17
NEERT =T H 36-5 162 162-3
NAEHT =T H 36-6 162 162-4
NEEHT =T H 36-7 162 162-5
NEERT =T H 36-8 162 162-6
NUEHT =T H 36-9 162 162-7
NAERT =T H 36-10 162 162-18-2
NEERT =T H 36-11 162 162-18-3
NUEHT =T H 36-12 162 162-18-1

26,42




I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NPERT =T H 36-13 162 162-9
NAERT =T H 36-14 162 162-10
NAERT =T H 36-15 162 162-19
NAERT =T H 36-16 162 162-11-1
NAERT =T H 36-17 162 162-11-2
NAERT =T H 36-18 162 162-11-6
NAERT =T H 36-19 162 162-11-3
NUERT =T H 36-20 162 162-11-4
NAERT =T H 36-21 162 162-11-5
NAERT =T H 36-22 162 162-12-7
NAEHT =T H 36-23 162 162-12-6
NAERT =T H 36-24 162 162-12-1
ANAERT =T H 36-25 162 162-12-2
NEEHT =T H 36-26 162 162-12-8
NAERT =T H 36-27 162 162-12-3
NAERT =T H 36-28 162 162-12-4
NAERT =T H 36-29 162 162-12-5
NAERT =T H 36-30 162 162-13
ANHEET =T H 36-31 162 162-1%-3
NAERT =T H 36-32 162 162-14
ANHEET =T H 36-33 162 162-1%~1
ANAERT =T H 36-34 162 162-15
ANAERT =T H 37-1 168 168-1
ANHEET =T H 37-2 168 168-1%-1
NPT =T H 37-3 168 168—1%-2
NHERT =T H 37-4 168 168-2
ANHEET =T H 37-5 168 168—1%-3
NEERT =T H 37-6 168 168-3
NEERT =T H 37-17 168 168-4
ANHEET =T H 37-8 168 168-1%—-4
ANHEET =T H 37-9 168 168—%-5
NPEHT =T H 37-10 168 168-5
NUEHT =T H 37-11 168 168-6
ANHEET =T H 37-12 168 168-1%-6
ANHEET =T H 37-13 168 168~%~7
NEERT =T H 37-14 168 168-7
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DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NPERT =T H 37-15 168 168-8
ANHEET =T H 37-16 168 168—{R-8-2
NAERT =T H 37-17 168 168-17
ANHEET =T H 37-18 168 168-f~-8-1
ANHEET =T H 37-19 168 168-£%-9
NAERT =T H 37-20 168 168-9
NAERT =T H 37-21 168 168-10
ANHEET =T H 37-22 168 168-£%~-10
ANHEET =T H 37-23 168 168-f&-11
NUERT =T H 37-24 168 168-11
ANAERT =T H 37-25 168 168-12
ANHEET =T H 37-26 168 16812
ANHEET =T H 37-27 168 168—%-13
NAERT =T H 37-28 168 168-13
NAERT =T H 37-29 168 168-14
NPT =T H 37-30 168 168-f%-14
ANHEET =T H 37-31 168 168—%-15
NAERT =T H 37-32 168 168-15
ANHEET =T H 37-33 168 168-£%-16
NAERT =T H 37-34 168 168-16
NPT =T H 37-35 168 168—%-17
NAERT =T H 38-1 169 169-1
NAERT =T H 38-2 169 169-2
ANHEET =T H 38-3 169 169-1%-6
NPT =T H 38-4 169 169-1%-1
ANHEET =T H 38-5 169 169-1%-2
NEERT =T H 38-6 169 169-3
NEERT =T H 38-7 169 169-4
NEERT =T H 38-8 169 169-5
ANHEET =T H 38-9 169 169-1%-3
ANHEET =T H 38-10 169 169-1%—-4
NEERT =T H 38-11 169 169-6
NUEHT =T H 38-12 169 169-9
ANHEET =T H 38-13 169 169-£%-5
NPERT =T H 38-14 169 169-7
NUEHT =T H 38-15 169 169-8-2
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DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NAERT =T H 38-16 169 169-8-1
NAEHT =T H 39-1 167 167-1
NAERT =T H 39-2 167 167-13
NAERT =T H 39-3 167 167-2
ANHEET =T H 39-4 167 167-1%-5
NAERT =T H 39-5 167 167-3
NPT =T H 39-6 167 167174
NUERT =T H 39-7 167 167-4
ANHEET =T H 39-8 167 167-1%-3
NAERT =T H 39-9 167 167-5
ANHEET =T H 39-10 167 167171
NAEHT =T H 39-11 167 167-6
NAERT =T H 39-12 167 167-7
ANHEHET =T H 39-13 167 167172
NAERT =T H 39-14 167 167-12
NAERT =T H 39-15 167 167-8
NUERT =T H 39-16 167 167-9
NUERT =T H 39-17 167 167-10
NAERT =T H 39-18 167 167-11
NAERT =T H 39-19 167 167-11-2
NUERT =T H 40-1 171 171-1
ANHEET =T H 40-2 171 17111
ANAERT =T H 40-3 171 171-2
ANHEET =T H 40-4 171 171172
NAERT =T H 40-5 171 171-3
ANHEET =T H 40-6 171 171-1%-3
NEERT =T H 40-7 171 171-4
ANHEET =T H 40-8 171 171-£%-11
ANHEET =T H 40-9 171 171712
NAEHT =T H 40-10 171 171-9
ANHEET =T H 40-11 171 171-1%4
NEERT =T H 40-12 171 171-5
NUEHT =T H 40-13 171 171-6
ANHEET =T H 40-14 171 171-1%-5
ANHEET =T H 40-15 171 171-1%-6
NEERT =T H 40-16 171 171-7
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DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
ANHEET =T H 40-17 171 171177
ANHEET =T H 40-18 171 171-1%-8
ANHEET =T H 40-19 171 171-1%-9
NAERT =T H 40-20 171 171-8
ANHEET =T H 40-21 171 171-£%-10
NAERT =T H 41-1 170 170-1
NPT =T H 41-2 170 170-£%-1
NUERT =T H 41-3 170 170-3
NAERT =T H 41-4 170 170-2
ANHEET =T H 41-5 170 170-1%-3
ANHEHET =T H 41-6 170 170-%-2
NAEHT =T H 41-7 170 170-4
ANHEET =T H 41-8 170 170-1%-13
ANHEET =T H 41-9 170 17014
NAERT =T H 41-10 170 170-5
NAERT =T H 41-11 170 170-6
ANHEET =T H 41-12 170 170-£%-5
NAERT =T H 41-13 170 170-7
ANHEET =T H 41-14 170 170-f%-14
NAERT =T H 41-15 170 170-9
NPT =T H 41-16 170 170-1%-6
NAERT =T H 41-17 170 170-10
ANHEET =T H 41-18 170 170~£%~7
NAERT =T H 41-19 170 170-11
NPT =T H 41-20 170 170-1%-8
NPERT =T H 41-21 170 170-12
ANHEET =T H 41-22 170 170-£%-9
NAERT =T H 41-23 170 170-13
ANHEET =T H 41-24 170 170-£%-10
NAEHT =T H 41-25 170 170-14
ANHEET =T H 41-26 170 170-f&-11
NPEHT =T H 41-217 170 170-15
ANHEET =T H 41-28 170 17012
NEERT =T H 41-29 170 170-16
NEEHT =T H 42-1 172-1 172-1-1
ANHEET =T H 42-2 172-1 172-1-1%-1
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BUEDOHFE (1AL 5y ) [X_ [ 3 L PR D ] Mt b 2R (B kAL Sy i)
T4 i HIX 1

NUERT =T H 42-3 172-1 172-1-2
ANHEET =T H 42-4 172-1 172-1-%-2
NUERT =T H 42-5 172-1 172-1-3
ANHEET =T H 42-6 172-1 172-1-1%-3
NUERT =T H 42-7 172-1 172-1-4
NPT =T H 42-8 172-1 172-1-1%:-4
ANHEET =T H 42-9 172-1 172-1-1%-16
NUERT =T H 42-10 172-1 172-1-5
ANHERT =T H 42-11 172-1 172-1-6
ANHEET =T H 42-12 172-1 172-1-1%-17
NUERT =T H 42-13 172-1 172-1-17
ANHEET =T H 42-14 172-1 172-1-{%-5
NAERT =T H 42-15 172-1 172-1-8
ANHEET =T H 42-16 172-1 172-1-1%-6
NPT =T H 42-17 172-1 172-1-%-7
NAERT =T H 42-18 172-1 172-1-9
ANHEET =T H 42-19 172-1 172-1-1%-13
NUERT =T H 42-20 172-1 172-1-
NUERT =T H 42-21 172-1 172-1-10
ANHEET =T H 42-22 172-1 172-1-1%-14
ANHEET =T H 42-23 172-1 172-1-15:-12
ANHEET =T H 42-24 172-1 172-1-1%:-15
ANHEET =T H 42-25 172-1 172-1-1%-11
NEEHT =T H 42-26 172-1 172-1-17
NUERT =T H 42-217 172-1 172-1-16
ANHEET =T H 42-28 172-1 172-1-1%-10
NAERT =T H 42-29 172-1 172-1-15
ANHEET =T H 42-30 172-1 172-1-1%-9
NUERT =T H 42-31 172-1 172-1-14
NHERT =T H 42-32 172-1 172-1-13
NUEHT =T H 42-33 172-1 172-1-12
ANHEET =T H 42-34 172-1 172-1-1%-8
NAEHT =T H 43-1 172-2 172-2-1
NAERT =T H 43-2 172-2 172-2-2
ANHEET =T H 43-3 172-2 172-2-1%:-1
ANHEET =T H 43-4 172-2 172-2—{%-2
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DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NUERT =T H 44-1 173 173-173-1
ANHEET =T H 44-2 173 173171
NHERT =T H 45-1
NHERT =T H 45-2
NHERT =T H 45-3
NHERT =T H 45-4
NUERT =T H 46-1 175-1 175-1-1
ANHEET =T H 46-2 175-1 175-1-1%-1
NAERT =T H 46-3 175-1 175-1-10
ANHEET =T H 46-4 175-1 175-1-{§-2
ANHEET =T H 46-5 175-1 175-1-%-3
NAERT =T H 46-6 175-1 175-1-9
ANHEET =T H 46-T7 175-1 175-1-{%-5
NAERT =T H 46-8 175-1 175-1-2
ANHEET =T H 46-9 175-1 175-1-1%:-6
NAERT =T H 46-10 175-1 175-1-3
NAERT =T H 46-11 175-1 175-1-4
ANHEET =T H 46-12 175-1 175-1-%-7
ANHEHET =T H 46-13 175-1 175-1-1%-8
NUERT =T H 46-14 175-1 175-1-5
ANHEET =T H 46-15 175-1 175-1-1%-10
NUERT =T H 46-16 175-1 175-1-6
ANHEET =T H 46-17 175-1 175-1-1%-9
NAEHT =T H 46-18 175-1 175-1-17
NUERT =T H 46-19 175-1 175-1-11
NEERT =T H 46-20 175-1 175-1-8
ANHEET =T H 46-21 175-1 175-1-{§:-4
NHERT =T H 47 176 TP XN
NUERT =T H 48-1 174-1 174-1-1-1
ANHEET =T H 48-2 174-1 174-1-{-2-1
NUEHT =T H 48-3 174-1 174-1-1-2
ANHEET =T H 48-4 174-1 174-1-{-2-2
NUERT =T H 48-5 174-1 174-1-1-3
ANHEET =T H 48-6 174-1 174-1-{-2-3
NAEHT =T H 48-7 174-1 174-1-1-4
ANHEET =T H 48-8 174-1 174-1-1§:-2-4
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DX BRIRE 0D I U M (HAHAL S5 i)

T4 bz £ X %
NUERT =T H 48-9 174-1 174-1-1-5
ANHEET =T H 48-10 174-1 174-1-{-2-5
NAERT =T H 48-11 174-1 174-1-1-6
ANHEET =T H 48-12 174-1 174-1-{%-2-6
NAERT =T H 48-13 174-1 174-1-1-19
NAERT =T H 48-14 174-1 174-1-1-12
NUERT =T H 48-15 174-1 174-1-1-11
NUERT =T H 48-16 174-1 174-1-1-10
NAERT =T H 48-17 174-1 174-1-1-9
NAERT =T H 48-18 174-1 174-1-1-8
NAERT =T H 48-19 174-1 174-1-1-7
NUERT =T H 48-20 174-1 174-1-1-20
NAERT =T H 48-21 174-1 174-1-1-13
NUERT =T H 48-22 174-1 174-1-1-14
NAERT =T H 48-23 174-1 174-1-1-15
NAERT =T H 48-24 174-1 174-1-1-16
NAERT =T H 48-25 174-1 174-1-1-17
NAERT =T H 48-26 174-1 174-1-1-18
NUERT =T H 48-217 174-1 174-1-2-10
NAERT =T H 48-28 174-1 174-1-2-9
NUERT =T H 48-29 174-1 174-1-2-8
NUERT =T H 48-30 174-1 174-1-2-7
NUERT =T H 48-31 174-1 174-1-2-6
NUERT =T H 48-32 174-1 174-1-2-5
NUERT =T H 48-33 174-1 174-1-2-3
NUERT =T H 48-34 174-1 174-1-2-4
NAERT =T H 48-35 174-1 174-1-2-2
NAERT =T H 48-36 174-1 174-1-2-1
NUERT =T H 48-37 174-1 174-1-2-20
NUEHT =T H 48-38 174-1 174-1-2-21
NAERT =T H 48-39 174-1 174-1-2-22
NUERT =T H 48-40 174-1 174-1-2-23
NUERT =T H 48-41 174-1 174-1-1-17
NAERT =T H 48-42 174-1 174-1-1-16
NUERT =T H 48-43 174-1 174-1-1-15
NEERT =T H 48-44 174-1 174-1-1-14
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T4 i HIX 1
NAERT =T H 48-45 174-1 174-1-1-13
NAERT =T H 48-46 174-1 174-1-2-11
NAERT =T H 48-417 174-1 174-1-2-12
NUERT =T H 48-48 174-1 174-1-2-18
ANHEET =T H 48-49 174-1 174-1-1%:-4
NAERT =T H 48-50 174-1 174-1-2-19
ANHEET =T H 48-51 174-1 174-1-1%-3

NUERT =T H 48-52 174-1 174-1-3
ANHEET =T H 48-53 174-1 174-1-1%-1
NAERT =T H 48-54 174-1 174-1-4
NAEHT =T H 48-55 174-1 174-1-6
NAERT =T H 49-1 174-2 174-2-1
ANHEET =T H 49-2 174-2 174-2—-1%:-1
NEEHT =T H 49-3 174-2 174-2-2
NAERT =T H 49-4 174-2 174-2-3
ANHEET =T H 49-5 174-2 174-2—{5:-2
NAERT =T H 49-6 174-2 174-2-4
NAERT =T H 49-7 174-2 174-2-5
ANHEET =T H 49-8 174-2 174-2—-1%-3
NAERT =T H 49-9 174-2 174-2-6
NAERT =T H 49-10 174-2 174-2-17
ANHEET =T H 49-11 174-2 174-2-1%~4
NAERT =T H 49-12 174-2 174-2-8
NAERT =T H 50-1 201 201-1
NPT =T H 50-2 201 201-12%-3
NHERT =T H 50-3 201 201-2
NEERT =T H 50-4 201 201-3
ANHEET =T H 50-5 201 201122
NEERT =T H 50-6 201 201-4
ANHEET =T H 50-7 201 201-f7%~1
NEEHT =T H 50-8 201 201-5
NEERT =T H 51-1 200 200-1
ANHEET =T H 51-2 200 200~1R—2
NEEHT =T H 51-3 200 200-2
ANHEET =T H 51-4 200 200~1%-3
ANHEET =T H 51-5 200 200-17%—4
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DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NAERT =T H 51-6 200 200-3
ANHEET =T H 51-7 200 200~1#%-5
ANHEET =T H 51-8 200 200-fr-24
NAERT =T H 51-9 200 200-5
ANHEET =T H 51-10 200 200-1%-6
NAERT =T H 51-11 200 200-6
ANHEET =T H 51-12 200 200~1R%~7
NUERT =T H 51-13 200 200-7
ANHEET =T H 51-14 200 200-1%-8
NAERT =T H 51-15 200 200-8
ANHEET =T H 51-16 200 200-12%-9
ANHEET =T H 51-17 200 200—{R~-10
NAERT =T H 51-18 200 200-9
ANHEHET =T H 51-19 200 200—{R-11
ANHEET =T H 51-20 200 200-17-12
NAERT =T H 51-21 200 200-10
ANHEET =T H 51-22 200 200-1#%-13
ANHEET =T H 51-23 200 200—{R-14
NAERT =T H 51-24 200 200-11
ANHEET =T H 51-25 200 200-1#%-15
ANHEET =T H 51-26 200 200-{R~-16
ANAERT =T H 51-27 200 200-12
NPT =T H 51-28 200 200-17-17
NPT =T H 51-29 200 200-17%-25
ANHEET =T H 51-30 200 200-17%-18
NHEHT =T H 51-31 200 200-14
ANHEET =T H 51-32 200 200—{R~-19
ANHEET =T H 51-33 200 200-{%-20
NAEHT =T H 51-34 200 200-15
ANHEET =T H 51-35 200 200—fR-21
ANHEET =T H 51-36 200 200-17-22
NUEHT =T H 51-37 200 200-16
ANHEET =T H 51-38 200 200-17-23
ANHEET =T H 51-39 200 200-f7%—1
NUERT =T H 51-40 200 200-17
NUEHT =T H 52-1 199 199-1-1
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T4 i HIX 1
ANHEET =T H 52-2 199 199-1%-1
NAERT =T H 52-3 199 199-1-2
ANHEET =T H 52-4 199 199-1%-2
ANHEET =T H 52-5 199 199-1%-3
ANHEET =T H 52-6 199 199-1%-4
NAERT =T H 52-7 199 199-2-1
NAERT =T H 52-8 199 199-2-2
NUERT =T H 52-9 199 199-3-1-3
NAERT =T H 52-10 199 199-3-1-4
NUERT =T H 52-11 199 199-3-2
NUERT =T H 52-12 199 199-3-3
NAERT =T H 52-13 199 199-17
ANHEET =T H 52-14 199 199-1%-5
NAEHT =T H 52-15 199 199-5
NAERT =T H 52-16 199 199-6
NPT =T H 52-17 199 199-1%-6
ANHEET =T H 52-18 199 199-1%~7
NAERT =T H 52-19 199 199-7
NAERT =T H 52-20 199 199-8
ANHEET =T H 52-21 199 199-1%-8
NUERT =T H 52-22 199 199-9
NPT =T H 52-23 199 199-£%-9
NPT =T H 52-24 199 199-1%-17
NUERT =T H 52-25 199 199-10
NHEHT =T H 52-26 199 199-11
ANHEET =T H 52-27 199 199-f%-11
ANHEET =T H 52-28 199 199-%-12
ANHEET =T H 52-29 199 199-1%-15
ANHEET =T H 52-30 199 199-1%-16
NEEHT =T H 52-31 199 199-13
ANHEET =T H 52-32 199 199-1%-13
NAERT =T H 52-33 199 199-199-14
ANHEET =T H 52-34 199 199-1%-14
NHEHT =T H 52-35 199 199-3-1-2
NEEHT =T H 52-36 199 199-3-1-1
NEERT =T H 53-1 198 198-1
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NAERT =T H 53-2 198 1981
NAERT =T H 53-3 198 198-1%-6
NAERT =T H 53-4 198 198—-1%-7
AT =T H 53-5 198 198-2
NAERT =T H 53-6 198 198-1%-2
AT =T H 53-7 198 198-3
NAERT =T H 53-8 198 198-1%-3
AT =T H 53-9 198 198-4
AT =T H 53-10 198 198-9
AU =T H 53-11 198 198-5
NAEHT="TH 53-12 198 1984
NAEHT="TH 53-13 198 198-1%-5
AU =T H 53-14 198 198-6
AT =T H 54-1 197 197-1
NAERT =T H 54-2 197 197-1%-6
AT =T H 54-3 197 197-2
NAERT =T H 54-4 197 19714
NAERT =T H 54-5 197 197-1%-5
AT =T H 54-6 197 197-3-1
AT =T H 54-7 197 197-3-2
ANUEHT =T H 54-8 197 197-4
NAEHT =T H 54-9 197 19711
NAEHT="TH 54-10 197 197-1%-3
AT =T H 54-11 197 197-5
NAEHT =T H 54-12 197 197-f%-2
AT =T H 54-13 197 197-6
ANUEHT =T H 55-1 196 196-16
NAERT =T H 55-2 196 196-fr-13
AT =T H 55-3 196 196-18-2
ANHEHT =T H 55-4 196 196-18-1
NAEIT="TH 55-5 196 196-f%-1
AT =T H 55-6 196 196-2
NAEIT="TH 55-7 196 196-1%-2
AT =T H 55-8 196 196-3
AT =T H 55-9 196 196-4
NAEIT="TH 55-10 196 196—1%-3
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T4 i HIX 1
NPERT =T H 55-11 196 196-5
ANHEET =T H 55-12 196 196-1%-4
NAERT =T H 55-13 196 196-6
ANHEET =T H 55-14 196 196-1%-5
NAERT =T H 55-15 196 196-7
ANHEET =T H 55-16 196 196-1%-6
NAERT =T H 55-17 196 196-8
ANHEET =T H 55-18 196 196-1%~7
NAERT =T H 55-19 196 196-9
NPT =T H 55-20 196 196-1%-8
ANHEET =T H 55-21 196 196-1%-14
ANHEET =T H 55-22 196 196-1%-16
ANHEET =T H 55-23 196 196-1%-9
NAERT =T H 55-24 196 196-11
NAERT =T H 55-25 196 196-13
NPT =T H 5526 196 196—£%-10
ANHEET =T H 55-27 196 196-1%-15
ANHEET =T H 55-28 196 196—f%-11
NAERT =T H 55-29 196 196-14
NAERT =T H 55-30 196 196-15
NPT =T H 55-31 196 196—%-12
NAERT =T H 56-1 206 206-1
ANHEET =T H 56-2 206 206—17%—1
NAERT =T H 56-3 206 206-3
NAERT =T H 56-4 206 206-2
ANHEET =T H 56-5 206 206—%—2
NEERT =T H 56-6 206 2064
NEERT =T H 56-7 206 206-5
NPT =T H 56-8 206 206—1R%~7
ANHEET =T H 56-9 206 206178
NEEHT =T H 56-10 206 206-6
ANHEET =T H 56-11 206 206—1%-9
ANHEET =T H 56-12 206 206—{R~-10
NEERT =T H 56-13 206 206-7
ANHEET =T H 56-14 206 206—{R-11
NEERT =T H 56-15 206 206-8
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T4 i HIX 1
ANHEET =T H 56-16 206 2061712
ANHEET =T H 56-17 206 206—1#%—13
NAERT =T H 56-18 206 206-9
ANHEET =T H 56-19 206 206—{R-14
ANHEET =T H 56-20 206 206176
NAERT =T H 56-21 206 206-10
ANHEET =T H 56-22 206 206—1%-5
NAEHT =T H 56-23 206 206-15
NAERT =T H 56-24 206 206-11-1
NAERT =T H 56-25 206 206-14
ANHEET =T H 56-26 206 206123
NAERT =T H 56-27 206 206-12
ANHEET =T H 56-28 206 206174
ANHEHET =T H 56-29 206 206-1%-18
ANHEET =T H 56-30 206 206-{R~-16
NPT =T H 56-31 206 206117
NUERT =T H 56-32 206 206-18
NUERT =T H 56-33 206 206-17
ANHEET =T H 56-34 206 206—1%-15
NAERT =T H 56-35 206 206-11-2
NUERT =T H 57-1 205 205-1
ANHEET =T H 57-2 205 205—17%~1
ANAERT =T H 57-3 205 205-2
ANHEET =T H 57-4 205 20572
NPT =T H 57-5 205 205-1%-3
NHERT =T H 57-6 205 205-3
ANHEET =T H 57-7 205 205174
ANHEET =T H 57-8 205 205-1%-5
NEERT =T H 57-9 205 205-4
ANHEET =T H 57-10 205 205176
ANHEET =T H 57-11 205 205-{%-20
ANHEET =T H 57-12 205 205-1R~7
NUEHT =T H 57-13 205 205-5
ANHEET =T H 57-14 205 205178
ANHEET =T H 57-15 205 205-{R~-19
ANHEET =T H 57-16 205 205179
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T4 i X 1
NPERT =T H 57-17 205 205-6
ANHEET =T H 57-18 205 205-£%-10
ANHEET =T H 57-19 205 205-1R-17
ANHEET =T H 57-20 205 205-1%-18
NAERT =T H 57-21 205 205-11
ANHEET =T H 57-22 205 205-fR-11
NAERT =T H 57-23 205 205-8
ANHEET =T H 57-24 205 205-fR-12
ANHEET =T H 57-25 205 205-1#-13
NUERT =T H 57-26 205 205-9
ANHEET =T H 57-27 205 205-fr-14
ANHEET =T H 57-28 205 205-f&-15
NAERT =T H 57-29 205 205-10
ANHEET =T H 57-30 205 205-1%-16
NAERT =T H 58-1 204 204-1
ANHEET =T H 58-2 204 204~17~1
NPT =T H 58-3 204 204172
ANHEET =T H 58-4 204 204123
NAERT =T H 58-5 204 204-2
ANHEET =T H 58-6 204 204174
ANHEET =T H 58-7 204 204~1%-5
NUERT =T H 58-8 204 204-3
ANHEET =T H 58-9 204 204176
NPT =T H 58-10 204 204-£%-20
ANHEET =T H 58-11 204 204—17~7
NHERT =T H 58-12 204 2044
ANHEET =T H 58-13 204 204178
ANHEET =T H 58-14 204 204~1%-9
NEERT =T H 58-15 204 204-5
ANHEET =T H 58-16 204 204-£%-10
ANHEET =T H 58-17 204 20421
ANHEET =T H 58-18 204 204-11-22
ANHEET =T H 58-19 204 204-fR-11
NEEHT =T H 58-20 204 204-6
ANHEET =T H 58-21 204 204-fR-12
ANHEET =T H 58-22 204 204-1%-13
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I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

T4 i HIX 1
NPERT =T H 58-23 204 204-8
ANHEET =T H 58-24 204 204-{R-14
ANHEET =T H 58-25 204 204-1%~15
NAERT =T H 58-26 204 204-9
ANHEET =T H 58-27 204 204-{R-16
ANHEET =T H 58-28 204 204-17~17
NAERT =T H 58-29 204 204-10
ANHEET =T H 58-30 204 204-1%-18
NAERT =T H 58-31 204 204-11
NPT =T H 58-32 204 204-1%-19
ANAERT =T H 59-1 203 203-1
ANHEET =T H 59-2 203 203-1%-1
NAERT =T H 59-3 203 203-2
ANHEET =T H 59-4 203 203123
ANHEHET =T H 59-5 203 203~1%-5
NAERT =T H 59-6 203 203-3
NPT =T H 59-7 203 203174
ANHEET =T H 59-8 203 203126
NAERT =T H 59-9 203 203-4
ANHEET =T H 59-10 203 203177
ANHEET =T H 59-11 203 203178
NAEHT =T H 59-12 203 203-5-1
NPT =T H 59-13 203 203-17%-12
NPT =T H 59-14 203 203-12%-9
NAERT =T H 59-15 203 203-6
NEEHT =T H 59-16 203 203-8-2
ANHEET =T H 59-17 203 203-{%-10
ANHEET =T H 59-18 203 203-fR-11
NPEHT =T H 59-19 203 203-8-1
NUEHT =T H 59-20 203 203-5-2
NEEHT =T H 60-1 202 202-1
ANHEET =T H 60-2 202 202-17%~1
NUEHT =T H 60-3 202 202-2
ANHEET =T H 60-4 202 202172
ANHEET =T H 60-5 202 202-1%-3
ANHEET =T H 60-6 202 202-1%-8
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I X R R

BUEOHFE (L3 ir)

DX BRIRE 0D I U M (HAHAL S5 i)

W4 g X g
ANUEHT =T H 60-7 202 202-4
NAERT =T H 60-8 202 202-%—4
NAERT =T H 60-9 202 202-f%-5
AT =T H 60-10 202 202-5
NAEHT =T H 60-11 202 202-%—6
NAEHT="TH 60-12 202 202-%-7
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